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Augmented IMC = parametric Markov Chains = Markov chains with polynomials on edges



Augmented IMC = parametric Markov Chains = Markov chains with polynomials on edges

Exact problem:

Jrefining MC . P( reacht from s ) ~ T

Qualitative subproblem:
As above, with 7 € {0, 1}.

Approximation problem:

Assuming |P,,;( reacht from s ) — 7| > ,

does there exist such a refining MC?
all in AR



Augmented IMC = parametric Markov Chains = Markov chains with polynomials on edges

Exact problem:

J refining MC . P( reacht from s ) ~ T |SQRT-hard

Qualitative subproblem:

As above, with 7 € {0, 1}. NP-complete

Approximation problem:

Assuming |P,,:( reacht froms ) — 7| > €, [ NP

does there exist such a refining MC? with known structure
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P(cake) = %:1:2(1 —x) + %1132 + %

massage polynomial to get SQRT-hardness
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